1(12) BFR u=ustsin2x: BINEME u=v+w,
DBEEE + FBEv = sin2x /4 FFFRWIRE

sin2x+ 2[” ) D) o= s e~*sin 2x

u= — sinnxdx) e ™ ¢ sinnx - ——

4 G ) 4
n=1

2(13) &5 Ux=16Uxn+3c0S3x+CoSt, Ul=0=X, Udzo=1+X":
u=v+w 45 v=-cos t+cos 3x/48, Pk BA N IRTTIH R

5 16 ,
u=1+x+1t+rt+ 1"~ cost
)

1 1
BT cos 3rcos 12t + I cos dx

3(15) & u=untutu,  Ul=0=0(X):
BRI THE + Dirac Delta & EFE M

1 (z+0)2 |

A=t Ly

c 4t

4(15) B BRAHR 1<r<2, u[-1=1, u|-=2cos’d;

+0oo

BRFEa)E, HXTFR u(r,0) =3 (a7 + byr~ NP (cos )
n=0
3 1 1 1
ag+bo=1, a,+b,=0, E(4az+§bz)=2, a0+5b0—5(327)=0
1 2 32 . .
u=——+—+ —(r2 —r73)Py(cos b
373 o3l Ho{cost)

5(15) B5 ue=0U, Ul-1=0, Ul=o=1-r" Ufi=0=0:
RAFRIBRE R T LR B, HxHR

L

u(r,0) = Y (C, cosw,t+ D, sinw,t) Jo(w,r)
n=1
pac 3 .
uw= 3 — 7 sinwytJo(wnr)
n=1 Wy J1(wn) w25 n AR

6(15) X T x=1 FEHHEHRE
BHREER-E 1 0, G=1/4Tr(MM.)-1/41tr(M,M:)

o 206z =1) .
T ﬂ =17+ —wP + (C— PR 1

S, PsP, (P +2P5+3P,)dx
IEXM#ZF PsPyPy HFIBEF PsP,P,
7(7 PsP,Py AIFRREE2P,P3 TLTEEL x°,
XL Ps H9SFLIE 2Py P3=bx5+--=cPg+--
3,5 2 40

63 10
2:(3x5)+SxIIPs 12 =2 X
2 2 8 21 2X5+1 231

8(8) SEREBMEIE u=uitut+us, FE)BHE R REE—NTTE
Aguy =0, 0 < a.y. 2 < 1,
1 ]p—0 = sin(dmy) sin(37wz), uy |,—1 = sin(37y) sin(drz),
i |y=o = 0, 11]y=1 = 0,
ty]—0 = 0, 11,1 = 0.

Ui=(chbmx—coth 5 sh5mx)sindny sin3rz +( shSmx/sh 5m)sin3my sindnz

EREE—TENWAE L yzx FEHLIR ] Uz, Us



